P 0N

FERR294F
O W IE ¥ & & BGEM)

T
CRAHTADER R —E)  cereeesresnee
_RAHTN EA ORI GHERED erererreseee
_RAHTH EHOMEIRR  oreeerrenee

#

kol
+



1. HEFTHEHOHRE

O IEDRE (Bf:FH)
X 4 _ EIZE‘ZZQﬁETE _
FHIERIDEE FHIE%R &t
— RS E (E5MH) 17,115,031 22,654 17,137,685
OFHEDHNE
{ ﬁXZSn_i_]
(WMA)
O ExH=® 21,390 +H
[(RBEERTIL) RERBEESEZFSE (21,390]
O @& A 16,136 M
[#2HE]) RHEDRE (A16,136]
O & 17,400 FH
CERE) EERERAAICKIIEREEHRFESEEEREDIEMI17,400)]
(AR B EBERATLEBRBAEICKEY)
()
O e 21,600 +M
(REREBEERE] REBEREEESBHE(21,600)
O #HEE 1,054 +H
[BHEEE] BEEERIRHE - S0 (1,054)
@ i A{EHIE GEMN)
EEOEM REEZE EEOAX o= BEDAE
FH .
BRBERFEEESEE 17.400| GEEEA F40%LIR | BEAEISOLT
X% (L mxRmL (F EOBAELLS
SR |ARTEUARGE oo A
HEERUHANE | ZE

DVWT.FIEORE
LEITORRIZBNT
T, HFRELED
F&)

il Neaetl T il z

ERETHIDIZL

f=f2L. TR D4R
BIZKYEEHMR
WEEHRZ &M
L. XITRLESEEL
IFEFIZfE]RR T
BIEMNTES,




— ALAE s 9 % —BEE
2. — 1R FEDOINR (FRAI—E)
A T o s 4. FA)
A FEIERTODEE| #HIEZE Hi EY g1l FEIERTODEE| #HIEZE Hi
1 |HR 4,119,894 4,119,894 EE3 137,674 137,674
2 [thAESTR 184,000 184,000 2 [#75E 2,260,234 21,600 2,281,834
I ""'I 7.t AY
3 2¥§J*H 5,600 5,600 J(IREE 4,325,442 4325442
st 3| 3545 .
4 Eéaé'éj*ﬁ 18,400 18,400 4 |BEE 1,440,014 1,440,014
H»EER -
i 13, 13, 17, 17,
5 pnayni 3,500 3,500 5 |(FEE 7,509 7,509
N h gh
6 fﬁﬁ'ﬁﬁm 610,000 610,000 6 EMKER 710,061 710,061
Xft&E g
7|FVZEHB 133000 133000 |7|@mT®E 1072,263 1072,263
MRt E
EEIER:) T
— =) 1 1
8 B 25 2 60,000 60,000 8 [t K& 2,176,506 2,176,506
1| 23S
9 i‘gﬁm* 12,515 12,515 9 [HFHE 836,105 836,105
10(#h 75 3 <+ Fit 5,166,733 5,166,733 |10|% & 1,919,536 1,054 1,920,590
RBREER << i g
= 118
11 AN 7,000 7,000 KEEIBE 830 830
VAN E| 2 N
12| Z HERV 167,999 167,999 |12|MEE 1,399,000 1,399,000
=K1k
13 {Eﬁﬁ&u 198,526 198526 13|38t 769,857 769,857
FHH
W EEZHE 1,780,090 1,780,090 |[14|F (k& 50,000 50,000
15|8XHE 959,454 21,390 980,844 & i 17,115,031 22,654| 17,137,685
16[BAEEUN A 63,009 63,009
17|35 M€ 300,003 300,003
18| & A& 695,548 695,548
19[fEHE 737,108 A 16,136 720,972
20|EEUR A 255,520 255,520
21|H{E 1,627,132 17,400 1,644,532
& i 17,115,031 22,654| 17,137,685




3. k=5 FE HADIKR (BHRMER)

(BB FH)

EE - — |  mEmOHE WIS it
il i) 4,119,894 4,119,894
THEERUVEES 141,399 141,399
FRAMRUTFHN 225,126 225,126
& B E I A 63,009 63,009
EI# & Bff s 300,003 300,003
" % A & 695,548 695,548
& 4 & 737,108 A 16,136 720,972
# 4R A 255,520 255,520
N Hi 6,537,607 A 16,136 6,521,471
oA E 5 B 184,000 184,000
A F A X MFE 5,600 5,600
B & 2 X ff & 18,400 18,400
?; = R fr AT 1% g 13,500 13,500
MAHEHEBXGE 610,000 610,000
1 7 j’f} Al A 2 133,000 133,000
171_: BEERFHER T 60,000 60,000
jg #h75 A G X E 12,515 12,515
oA KX O B 5,166,733 5,166,733
g‘;f 5%“ Z%*é 4? § 7,000 7,000
B E X H =% 1,780,090 1,780,090
B X ®H = 959,454 21,390 980,844
il & 1,627,132 17,400 1,644,532
M &t 10,577,424 38,790 10,616,214
a E 17,115,031 22,654 17,137,685

-3




4. —R=ETFE mHEOEERNK

(6 FH)
5 g = 7 BENOHE WIS Bt
A % =1 2,960,139 12,093 2,972,232
?&% ® Bh =1 2,114,236 2,114,236
;‘2 2 & =1 1,399,000 1,399,000
| &
w N 5 6,473,375 12,093 6,485,468
gg ) % =1 2,807,934 10,456 2,818,390
# B W B 115,065 115,065
W OB & % 2,548,439 105 2,548,544
B 11,944,813 22,654 11,967,467
= OB F X 1,190,398 1,190,398
g B = % 1,170,351 1,170,351
B | %
Bl g | RESxaES 137,410 137,410
gg * N it 2,498,159 2,498,159
# X F & B & 830 830
H 2,498,989 0 2,498,989
i} 3 4 769,857 769,857
T | BERUVEE S
1@ = 1 &
#®
7| & H & 1,851,372 0 1,851,372
B 2,621,229 0 2,621,229
¥ ] = 50,000 50,000
=) g 17,115,031 22,654 17,137,685




